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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O] AR b fu

(a) What is cardinal utility?
FRARDE Soicrfet &2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?

701 o Res AR cvae afes ofsess 21 @
2’37?
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(2)

(c) Define income effect.

w1y R g 7 |

(d) What is meant by a person be ‘risk
averse’?

P& GG =I5 Sz WA & &1 I 2

(e) Why is the average fixed cost curve
rectangular hyperbola?

1% &1 I @Ler JAFoN *_RIge 1 = 2

(/ When is the long-run average cost curve
L-shaped?

AT 1S T @R (FSH L-FfR 27 72

(g What is production function?
Terima I 2

(h) Define expansion path.
SRR A% FA o o

(i) State the concept of shutdown point of a
firm

9o1 oAfSBTY B 3T RYI 4RNCHT Sray 347 |

(i) Define opportunity cost.
eIl I e fuan o
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(3)

2. Writtf: short answers of the following
questions : ' 2x5=10

T AR b Tad faw
(a) What is meant by slope of a budget line?
JMCRG ([T TR Gl A & o1 I/ 2

(b) Distinguish between gross demand and
net demand.

o oI W o SIIRAE T&S A A7 340

(c) What are short-run and long-run costs of
production?

ZFIAE SF THFE Seema IR e (2

(d) Establish the relationship between total
utility and marginal utility.
P Toaifarel wF AT TAuTer TrES oo
B9 <41 |

(e} State the concept of optimum firm.

I AR ARACE! BeE 9 |

3. Answer any four of the following questions :
5x4=20

@R 2R R oo Teq faan
(a) What is inferior good? How is it different

from normal goods? Show it with the help
of indifference curves.

fig2 R 7 Toie AETSE X @A
2% 7 FICr® (@AYR TS TYS |
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(4 )

(b) Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

AT ANFR @R 7RI ARTET W SRR
qrere ST A IRfee, Seawa 47 |

(c) Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of ¥ 10.
Further suppose that the probability of
his winning is 0-6. Find expected money
value of lottery ticket.

{1 2’ 9ET IREE @B AR B6 AR I
Rezom sfez 1 I IfewE wwmTe IR O3
5,000 53 *@FR 4R wF ;M JR, O3
10 B FpRfd 3701 <) | SR @1 A @ SIS
FE TBRATO 2F 0-6. 75131 BFOR donfre

1 o7 ofeied |

(d) Define substitute and complementary
factors. Draw isoquants of perfect
substitutes and perfect complements in
production. Give examples.

fow e RS Teme vicen a1 oo Rem
o o R BAMF S @ S 41
Twrde o
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(e)

4. Answer the following questions :

(S)

“If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

“AfecrergEe IS It Tgd AfSHE &
wH, ofem 7@ fAea WEEE s IW @R
fAgo Regtat 2m1 R 17 w900

Give the various concepts of production
costs in brief.

e AR RiSa (=P o0 &40 1

AR 2R Tad faw

(a)

(b)

22A/39

“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

TafS Ny A 1”7 WA F41 |
Or / 991

Explain how indifference curve can be
derived using revealed preference theory.

AIM HAAIA ©ET TS (FCAI [P QAT
A #If}, AT 40

How are average cost curve and marginal
cost curve derived from total cost curve?

10x4=40

10

5+5=10

5 IW @R [ FERF TS W @A R ATS
I @A SR IR 1R 2
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(6)

Or / 9241

What is meant by optimum factor
combination in production? Explain with
the help of isoquant and isocost lines.

2+8=10

I SR (&6 Jerea & g AW AARAE
Q4 IF I @R TS [ 47 |

(c) Explain the impact of change in rate of
interest on the consumers. Use
diagrams. 10

TSGR GRS ¥ TN RIS 2o
341 | 67 ez I

Or / 931

Fill in the blanks in the following table :

3+3+3+1=10
SR ST el AIRCAR *R9 FT
Number of Total Marginal Average
variable inputs output product product
*ffRqST 6 Seor | oanfaF Seoe | oS SeomA
SUESIE R
3 — 18 30
4 - 20 —
S 130 —_— —
6 — 5 —
- - 1
7 195
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(7))

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

8oqS TrEY I CICRIATS FRPINE ST
ffSwfere a2 I =, (5@ @EH RSN
HIfZAR 56 *[1 FREEHE 2A1fEF B &S

xR ?

(d) Critically discuss the law of variable
proportion. 10
AT Sere  RfEGT  STHET ARSI
HICADAl 41 |

Or / 91

What are isoquants? Show the
increasing, constant and decreasing

return to scale through isoquants.
1+3+3+3=10

A @ B2 AW @R IS
FIIYIA, AT HF FEPEE o 41
off ST 73Sl |

* &k %
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